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BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< pNY _ % 8
T
| maET -
i RC-40 8
|
i
| W_[sEEIIE]_0.600
a ! D1 [&4ME[ 0.060
= g ° HHIRH B5H — DP [ 40 [ 0.900
| RC-40 < H1 | #H07E| 1.060
i H2_ [dmile] 1.020
IS HR hl  |HE#| 0.410
—t h | # & 0460
| o
j 3
W !
i al <
1 o
i =
!
\ @D
( 68.3 m H7/=0EE)
4 Fr IR N NI A & i = BN &
Sl T As, t=15cmA T 2.00 X 68.3 m 136.6
SHREERBUSERGA T As, t=10emPL T 0.60 X 68.3 m? 41.0
g | T Bk YR+ 0.60 X 1.020 X 68.3 m’ 41.8
T RC-40 0.60 X 0.410 X 68.3 m’ 16.8
B T WAt
A T T w ( 0.60 X 0460 — 0.060 2 X x.4)X 68.3 m® 18.7
EEl Wi R
FAE AT WE+ 41.80 — + 09 m’ 41.8
T A7 7V AR As 0.60 X 0.04 X 68.3 m’ 1.6
[T YN As m® 1.6
TGV - ALy T 0.023 X 0.04 X 136.6 m’ 0.13
T RC-40, t=16cm 0.60 X 68.3 m? 41.0
AR EEAS(13)
#3 t=3cm 0.60 X 68.3 m? 41.0
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+THa47 1-5 HEHIE As PP ¢ 13 DP=0.65m
+ TR L= 253 = 25.3 m
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< pNY _ % 3
T
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| W_[sEEIIE]_0.600
a ! D1 [&4ME[ 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < HI | #0vE| 0.772
i e [dmile] 0.732
IS HR hl  [HEREH4] 0.160
—t h | # & 0422
| o
j 3
W !
| 5| <
1 o
i =
!
\ @D
( 25.3 m H7=0EE)
4 Fr IR N NI A 7 = . BN &
Sl T As, t=15cmbd T 2.00 X 253 m 50.6
SHREERBUSERGA T As, t=10emPL T 0.60 X 25.3 m? 15.2
o i | T Mtk HOET - 0.60 X 0.732 X 253 m’ 11.1
T RC-40 0.60 X 0.160 X 253 m® 2.4
B T NiaE
A T T w ( 0.60 X 0422 — 0.022 2 X x./4)X 25.3 m® 6.4
EEl Wi R
FAE AT WE+ 11.10 — + 09 m’ 11.1
T A7 7V AR As 0.60 X 004 X 253 m’ 0.6
[T YN As m’ 0.6
TGV - ALy T 0.023 X 0.04 X 506 m’ 0.05
T RC-40, t=16cm 0.60 X 25.3 m? 15.2
AR EEAS(13)
#3 t=3cm 0.60 X 25.3 m? 15.2
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